BK Hudik
Spargrisen 8 HCP 2022-04-07

Partavling, 5 bord, 10 par. Antal brickor: 27. Medel: 108.0.

Plac Par Poéng % Namn MID Klubb

1 8 128.1 59.31 Bo Hagstrém - Zennica Hammar 12062 44278 BK Hudik - Bollnas BK

2 3 119.0 55.11  Karl-lvar Andersson - Erling Rahm 23212 63963 BK Hudik

3 7 115.2 53.35 Hans Markstrém - Per Andersson 17158 22859 BK Hudik

4 10 113.0 52.30 Lasse Danielsson - Bo Bergstrom 93205 93207 BK Hudik

5 5 107.6 49.84  Anne-Marie Hoglund - Eva Bodell 50984 8125  BK Hudik

6 1 105.2 48.69  Borje Olsson - Jan Sundbom 83505 53863 BK Hudik

7 2 103.7 48.03  Lars Ramkvist - John-Olof Jonasson 28379 23759 BK Hudik

8 6 101.8 47.13  Sven-Erik Danielsson - Lars-Gdran Jonsson 68313 8100 BK Hudik

9 9 93.3 43.18 Hans Bergvik - Thommy Malmstrom 9251 8115 BK Hudik

10 4 93.0 43.06  Jan Wilhelmsson - Bernt Pettersson 54473 28837 BK Hudik
1 Nord Ingen 2 Ost NS 3 Syd OV

Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
10 1 54D O -3 s K 500 80 00| 52 44 S+1 *T 650 50 3.0 7 3 2NV= vT -120 7.0 1.0

52 34 S+l *8 170 6.0 20| 7 3 44 S+l 48 650 50 3.0( 10 1 INV+1 v6 -120 7.0 1.0

98 2vV+l +8 -140 4.0 40| 9 8 44 S+l +9 650 50 3.0 46 28V+2 v6 -130 4.0 4.0

46 4v V+1 s A -450 1.0 7.0 10 1 44 S+1 +9 650 50 3.0 52 24 V+1 v6 -140 1.0 7.0

7 3 4v V+l s A -450 1.0 70| 4 6 44 S= 8 620 00 80| 98 264 V+1 v6 -140 1.0 7.0
4 Vast Alla 5 Nord NS 6 Ost OV

Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang

8 4 24 N-1 *A -100 8.0 00| 1 9 6NS+1 vQ 1470 70 1.0 1 9 3¢ N+1 aT 130 5.0 3.0

19 2vV+l 45 -140 3.0 50| 10 2 6NS+1 +J 1470 70 1.0 6 3 3¢ N+1 49 130 50 3.0

57 2v0+1 &T -140 3.0 50| 57 6#N+1 vT 1390 20 6.0 8 4 4¢ N= v6 130 5.0 3.0

6 3 3vV= vA -140 3.0 50| 6 3 64 N+1 vT 1390 20 6.0 10 2 2¢ N+2 aT 130 5.0 3.0
10 2 2v O +1 &T -140 3.0 50| 8 4 64 N+1 v7 1390 20 60| 57 24V-1 *A 100 0.0 8.0
7 Syd Alla 8 Vast Ingen 9 Nord OV

Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang

7 4 64 S+l *7 1460 70 10| 7 4 3aV= vA -140 8.0 00| 21 2NV= +5 -120 8.0 0.0
10 3 64 S+1 a4 1460 70 10| 21 3aV+2 46 -150 6.0 20| 95 2NV+1 a5 -150 6.0 2.0

21 6NS= vQ 1440 40 40| 10 3 34 V+2 vA -200 4.0 40| 6 8 3NV= 48 -600 3.0 5.0

6 8 44 S+3 +9 710 10 70| 6 8 34 V+3 *6 230 2.0 6.0| 7 4 3NO= 48 -600 3.0 5.0

9 5 44 S+3 vQ 710 10 70| 95 3vDN-2 a2 -300 0.0 80| 10 3 3NV+1 +5 -630 0.0 8.0
10 Ost Alla 11 Syd Ingen 12 Vast NS

Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng

8 5 4vyDN+2 ¢J 1190 80 00| 32 24N= vA 110 70 10| 85 3¢ N= a7 110 8.0 0.0

16 4v N+2 46 680 50 3.0 79 24 N= vA 110 70 10| 3 2 2#S-1 vK -100 6.0 2.0

79 44 N+2 *J 680 50 3.0 16 4v0-1 46 50 40 40| 7 9 24 0+= *4 -110 3.0 5.0

32 2vyN+4 +J 230 20 60 85 3aN-1 vA -50 20 6.0|10 4 2v0O= v] -110 3.0 5.0
10 4 3v N+2 *J 200 0.0 80| 10 4 34aDN-1 vA -100 0.0 80| 16 4v0O= s A -420 0.0 8.0
13 Nord Alla 14 Ost Ingen 15 Syd NS

Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang

96 44 V-2 vA 200 80 00| 27 2¢V+1 *6 -110 7.0 1.0 9 6 3NN= a7 600 8.0 0.0

8 1 3vN= 48 140 6.0 20| 10 5 3¢ V= *6 -110 7.0 10| 8 1 INN+3 a7 180 6.0 2.0
10 5 34 0= *] -110 4.0 40| 8 1 2NO= 3 120 4.0 40| 2 7 2NN+1 aT 150 40 4.0

27 24 V+1 vA -140 1.0 70| 4 3 3¢ V+1 *4 -130 2.0 6.0 4 3 2NN= a7 120 20 6.0

4 3 34 V= vA -140 10 70| 9 6 3NO= *9 -400 0.0 80| 10 5 3NN-1 a5 -100 0.0 8.0
16 Vast OV 17 Nord Ingen 18 Ost NS

Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang

9 2 5aV+l &K -680 8.0 0.0| 9 2 3¢ N+1 a5 130 80 00| 92 INS+2 +5 150 8.0 0.0

17 64V= &K -1430 40 40| 3 8 3¢ N= *] 110 50 30| 17 3v0O-1 A 50 50 3.0

38 6aV= *K -1430 4.0 40| 54 3¢ N= 43 110 50 3.0 54 1+ 0-1 v4a 50 5.0 3.0
10 6 64 V= +6 -1430 4.0 40| 10 6 44 S-1 vQ -50 2.0 60| 38 2vV= &K -110 1.0 7.0

54 6aDO= &K -1660 0.0 80| 17 44S-2 v6 -100 0.0 80| 10 6 2v O= +5 -110 1.0 7.0
19 Syd OV 20 Vast Alla 21 Nord NS

Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang

13 3+4DV-1 8 200 80 00| 49 2vN-1 s A -100 7.0 1.0 10 7 44 V-3 +Q 150 8.0 0.0

4 9 2¢ S+1 *A 110 6.0 20( 10 7 2v N-1 s A -100 7.0 10| 65 3a4V-2 +Q 100 6.0 2.0
10 7 34 O-1 &K 100 40 40| 1 3 240= v5 -110 4.0 40| 1 3 44 V-1 *3 50 40 4.0

28 1laV+l vA -110 2.0 6.0 2 8 INV+2 &T -150 2.0 6.0 2 8 1la V+2 .7 -140 2.0 6.0

6 5 2NV +1 vK -150 0.0 80| 6 5 INV+3 v7 -180 0.0 80| 4 9 44 V= +Q -420 0.0 8.0
22 Ost OV 23 Syd Alla 24 Vst Ingen

Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng

39 2¢ S+2 aJ 130 80 00| 51 2NS+1 *2 150 80 00| 24 3NO+3 &3 -490 8.0 0.0

24 INO-1 +9 100 6.0 20 3 9 2vS= 49 110 6.0 20 51 44 O+3 *A -510 6.0 2.0

7 6 INN= &K 90 40 40| 7 6 INS= +6 90 40 40| 3 9 64 O+1 *A -1010 2.0 6.0

51 2vN-1 *K 50 1.0 70| 2 4 4vS-1 49 -100 2.0 60| 7 6 64 O+1 A -1010 2.0 6.0
10 8 2¢ S-1 *A -50 1.0 70| 10 8 4v S-2 49 -200 0.0 8.0| 10 8 64 O+1 +8 -1010 2.0 6.0
25 Nord OV 26 Ost Alla 27 Syd Ingen

Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng
10 9 34 S= +5 140 80 00| 87 340-1 v5 100 70 10| 35 540-1 vA 50 7.0 1.0

6 2 4¢ N= »8 130 6.0 20| 10 9 44 V-1 *T 100 70 10| 10 9 5 V-1 *A 50 70 1.0

35 24 S= +5 110 40 40| 41 24 0= v5 -110 4.0 40| 4 1 3¢ V+1 vA -130 3.0 5.0

8 7 24 S-1 +5 50 2.0 60| 6 2 24 O+1 v5 -140 2.0 6.0 6 2 3¢ V+1 v6 -130 3.0 5.0

41 44 S-2 vA -100 0.0 80| 35 340+1 v5 -170 0.0 80| 8 7 5#V= a7 -400 0.0 8.0
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